0000000 oOoooooooo O0OOO0o0ooo

o

ooooo

o o

o o o

0000000 OO0OOO0ooooo

TE40NDO S

TE7S581 000000

MY6S

T150US

0-148 m

TOKAI CASTER Double-wheel Casters

oo oon

ooooooo ®

312462
s TED O DO000000000O0OO0n
e II0OID e IDOIDDOOIOD eI IONIOODOOOO 0 OOmm
ooo ooo 00 |00 |00 |00 oooo o000 oooo
000 ooopoo| O |000|00 |00 (000x00 ooo 00 |0 kgO
TE4AQ O OO 580 680 38 | 48 15 | 51 |PCD28x 5 — — 40
TE40EI OO 0O 580 680 38 |50.5| 15 | 51 |26x 26x5 — — 40
TE40K 00O 0O 540 — 38 | 48 — | 51 |46x28x5 — — 40
TE40N2.5 580 680 38 425| 15 | 51 — |W5/16"0 18| 12 40
TE4ON3 580 680 38 425| 15 | 51 —  |W3/8"016 | 12 40
TE40N8 580 680 38 425| 15 | 51 — M8x 1.25 12 40
TE40N10 580 680 38 425| 15 | 51 — M10x 1.5 19 40
TE40N12L-40 700 800 38 | 44 15 | 51 — M12x 1.75 | 40 40
TES@ OOO 640 740 50 | 65 17 | 49 |PCD40x 55 — — 60
TES0EI O OO 640 740 50 | 65 17 | 49 |46x 35x55 — — 60
TE50N3 640 740 50 | 57.5| 17 | 49 —  |W3/8"016 | 19 60
TE50N8 640 740 50 | 57.5| 17 | 49 — M8x 1.25 14 60
TE50N10 640 740 50 |57.5| 17 | 49 — M10x 1.5 14 60
TE50N12 640 740 50 57.5| 17 | 49 — M12x 1.75 | 14 60
TE50N12P1.25 680 780 50 57.5| 17 | 49 — M12x 1.25 | 14 60
TE50N4P20 680 780 50 | 57.5| 17 | 49 — u1/20 20 16 60
TE75 1,920 2,060 75 | 93 20 | 64 |50x50x 6.2 — — | 120
TE7SQ 000 | 1,920 2,060 75 | 93 20 | 64 |PCD51x 6.2 — — | 120
TE75N3 1,920 2,060 75 845 | 20 | 64 —  |W3/8"016 | 19 | 120
TE75N12 1,920 2,060 75 1845 | 20 | 64 — M12x 1.75 | 22 | 120
TE75N16 1,960 2,100 751845 20 | 64 — M16x 2.0 25| 120
TE75N4P20 1,960 2,100 75 845 | 20 | 64 — uU1/20 20 16 | 120
TE100 2,300 2,700 | 100 | 119 | 24 | 64 |50x 50x 6.2 — — | 100
TE100N3 2,300 2,700 | 100 | 110 | 24 | 64 —  |W3/8"016 | 19 | 100
TE100N12 2,300 2,700 | 100 | 110 | 24 | 64 — M12x 1.75 | 22 | 100
TE100N16 2,340 2,740 | 100 | 110 | 24 | 64 — M16x 2.0 25 | 100
0o0000000000000000000O0TEICOODOOOWS 0000000000000
s MYOOOOoooooooogood
e IO DOOIOOOIOD eI IOIIDOOT eI OOINIOOODOOO 0 O0mm
ooo ooo 00 |00 |00 |00 oooo oooo oooo
000 |[mooooo| O |0oo|O00 |00 0b0x00 ooo 00 |0 kgd
MY4 660 760 40 60 |12.5| 39 |PC34x 5 — — | 50
MY4N3 660 760 40 |53 | 125 39 —  |W3/8x 016/ 12 | 50
MY4N8 660 760 40 |53 |125| 39 — M8x 1.25 12 | 50
MY4N10 660 760 40 |53 |125| 39 — M10x 1.5 19| 50
MY6 840 940 50 | 745 |17 45 |PCD40x 55 — — | 80
MY6N10 840 940 50 |67 |17 45 — M10x 1.5 14| 80
MYG6N12 840 940 50 |67 |17 45 — M12x 1.75 | 14 | 80
e TUO000O0O00O00OO0OO000ouoon
eJJOUI0DO e DOOOIFCD U0 IROOIMINOOOODO 0 O0Omm
ooo ooo 0o |00 |00 |00 (o0 oooo 00 |0ooo
000 \[mooooo| O |000j00 |00 | O PCDx OO |00 |0kgO
FCD | 25,720 — 153 | 42 500
T130 R 29,140 | 35,760 | 130 | 158 | 22 | 153 | 41 ¢ 80x 10 13 | 280
U 36,860 | 43,480 153 | 40 500
FCD | 30,560 — 176 | 45 600
T150 R 31,320 | 38,700 | 150 | 200 | 35 | 176 | 45 | @ 100x 12 | 15 | 320
U 40,800 | 48,160 176 | 40 600
FCD | 35,260 — 178 800
T200 R 36,440 | 43,980 | 200 | 253 | 38 | 178 | 45 | @ 110x 12 | 16 | 400
U 49,440 | 56,980 178 800




